o
(¥

0.15

o
i

<3 @> (rad)

0.05F

.............

.............

Ratio

-3

-

-2

—— DQ
—— DQ
—— DO

-1

0 1 2 3
TP n (PCA to beamline)

o
(¥

< 5 cot(®) >
=
a1

o
i

................

...........

...........

HE o

-

K .
M-

-2

-1

0

1

2 3

TP n (PCA to beamline)

— DQV ariginal s[epZ [[Eiar-p asel-newgeom

M_pixelCPETemplate_step2_ttbar-phasel-newgeom
M_pixelCPETemplateCutChiSquareNew_step2_ttbar-phasel-newgeom
M_pixel CPETemplateCutChiSquareNew?2_step2_ttbar-phasel-newgeom

§ 1005 : o :
= 80t : 7 -
A F : : :
& 60:— ....... : : ;
© E : : :
v A0 : ] H
20:— ------ - .- ,
(" R
aof- b JE
=40t
o 1 b N 3l
—60:— 1 ;f« H ,.
-80F -+t
O_loof....i...i...i... AR
e 1h----- 3 - ]
F =
0.5F----- b -

-1

0 1 2 3
TP n (PCA to beamline)

<opJp,> (%)
O = N W N O

Ratio
P
[ I I N |

E - [[[E el T 1T

E o ([[RIL [l (1 II]:

-t 1o 114 Sy -l
R i url
~2f--- i it it e
—gE -t - T
S i HR Y

SR AN TN A A I AR

E LR TR d | 3l

U A R T
0.5F b d - -1 F

o Lk ] LI 5 5
=3 -2 -1 0 1 2 3

TP n (PCA- to beamline)

— 100

PREEREY P

9_100;|||I ||!| .|||I|| bl 4y
o e o | W1 - (I E -
= il
¥ b
b

0

1

2 3

TP n (PCA to beamline)



	Contents
	Page 1


